Y2 - Spring — Block 2 — Step 6 — Use arrays Answers

Question Answer

5+5+4+5=15
3x5=15
There are 15 pears.

6+6=12
2X6=12
There are 12 stars.

4+4+4=12

3x4=12

3+434+3+3=12

4x3=12

The numbers in the multiplication are the same.

2X9=18
4 9x2=18

0000000
0000000
0000000

7%x3=21

The array could be drawn as 3 rows of 7

possible arrays:
1 row of 12

2 rows of 6

3 rows of 4

4 rows of 3

6 rows of 2

12 rows of 1




Y2 — Spring — Block 2 — Step 6 — Use arrays Answers (continued)

Question Answer

Multiplication

Array 1

Array 2

3x8

2 x5

4 x 9

6 x 1




